J
1M
ut)
fd
12
o,
o
o
<
N
P
3
o

*  xcosd+tysinf—c=0

H}

oft

o] &d; (cosh, sinf); T H A E

o

F 8= (explicit form); y= f(z)
ERN
=R =R

(implicit form); g(z,y)=0
* (x1, yD)= AU, 71€7] md AA
yzm(x—xl)-i-yl

* vl 7] ¥ 4= 2] (parametric eq.)
r=x, tat , y=y, +bt

® o y= r—x°, —r<z<r
y__VT2_$27 —r<z<r

* 1 =1 cosl
y=rsinf, 0<60<2r
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AM; z=z,+ft

y=yotgt

(g =z, +ft) + (yo—y.+gt) =1 =0

=>
t_lﬂx;<%)+g@a—%)i\ﬂﬁ@”+f)—vﬁm—yJ—ghm—xJP
g
t &<t WA e A5
F2 AEdE 4
2o AT mAE A5

* 2 gl Hel= A4

given: (z; y.), r., (z y), n

ar+by+c=0
a+bv =1

ax, +by,+tc==xr,
ax;+by, +c==xn
ax,+by,+tc=Fr,
axr,+by, +c==xr

(F Tlirk)$lk_y1k\/$12k+yzzk_ (£r, F 1)

2 2
Tt Y

(Fritr )y +ay \/1712k+yz2k_ (£r, F 1)

2 2
it Yin

Ty =T~ T Yie — Y1~ Yg

c=%F r,—ax,— by,



2 2 _ 2
xcc+ycc_’rc

(xlk - ‘rcc)2 + (ylk - ycc)2 = T?

(xmk - 'rcc)2 + (ymk - ycc)2 = T?

Tipy, = Xj = T Yik = Yi — Ypo

Tpoe T Yo = (@i +yin) /2
_ 2 2
T kLec +ymkycc - (xmk' +ymk)/2

2 2
Tty Y
2 2

o xmk+ymk’ Ymk

cc QA

2 2
Ty Xyt Y

2 2
o LTk Tk + Ymk
Yee = 2/

Lk Y

Tk Ymk

_ 2 2
Te = Lee + Yee

T, = Toe T Ty
Ye = Yee + Yk
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conic section curve(¥d3F @ =A)
A(circle) 5 2> +y*—r* =0
Bl 9 (ellipse) ; x/a*+y*/b*—1=0

S5 M (parabola) ; y* —4az =0

#3514 (hyperbolar) ; z%/a®> —?/b*—1=0

=4 glzy) =09 3 H Plxy, yDolA Aate=
Tangent eq.

a9 dg B

abl,yl(x*%)*‘ a—y|1173/1(y*y1) =0
Normal eq.

@'z].yl(l‘_ Ly ) - %lml,yl (y_ yl) =0

A 7.7)



RIERY

Y x=rcosd, y=rsind

E}¥Y: z=acosf, y=bsinh

Ak el M = q,+at+ayt’ +agt’
y = by + byt + byt” + byt

:]:T/}j}g—g/] ;g t:tl = ($17y1)°ﬂ}‘1

A r=x(w)=zt,)+uzt)
Y= y(u):y(t1)+ug)(t1)

y=mlz—z@,))+ylt,); m=-=

o 2] 7.10)



AxoZ AA;
x(t)=ag+ayt, y(t)=0by+bit; 0<t=<1
at)=a+ (@, —a)t, yt) =y + @y —ylt ; 0=<t=<1

(a) Ferguson curve

given;  H Plxg, yo), Qlzy, yy), Z-ANME 7171 my (ug, vg), my (uy; vy)

c(t)=aytatt+at’+at’ , 0<t<1 (7.41)
y(t) = by + byt + byt + byt®

my = tanf, = v,/ u,
2(0) = agug , y(0) = g,

m, = tan, =v,/u,

z(1)= oy, y(1) = oV

xz(t)=x,+ugt+ 3z, — 3z, — 2u, —u )t2+(2$ — 2z, tuytu )t3
0 0 1 0 0 1 0 1 0 1

x(t)=TCS, , y(t)=TCS, ; Ferguson curve

1 0 0 O
|0 0 1 0
¢ -3 3 —2—-1
2 =21 1
z Yo
x
Sx = ! ; Sy = v
UO U[]
Ul Ul

o Al 7.11)



(b) Bezier curve
Bernstein polynomial

Pylag,by) (t=0) —> Py(az,b;) (t=1)

c(t)=a,(1—t)*+3a;t(1—t)* +3a,t* (1 —t)+agt®> , 0<t<1 (7.49)
y(t) =0y (1—1t)* +3b,t(1— 1)+ 3byt* (1 —t) + byt®

x(O)ZaU,x(l)=a3,y(0)=b07y(1)=b3
2(0)=3(a, —ay), 2(1)=3(a3—ay) ; 71&7], 2l EAste A
?;(0):3(131_[)0)7 3)(1):3(1)3—1)2)

A (749)& A7 sha,

z(t)= ay + (— 3a, + 3a1)t+ (3a0 —6a; + 3a2)t2 + (= ay+3a; — 3a, +a3)t3
x(t)=1—3t+3t> —t*)ay + (3t — 6t + 3t* )a, + (3t — 3t*)ay + t2a,

x(t)=TMR,, y(t)= TMR, ; Bezier curve

1 0 00
-3 3 00
M= 3 —6 30
-1 3 -31

) by
| - by
R, = e Ry by
as bs

control points (ZAH); Pylag.by), P (ay,b,),P,(ayby),Ps(as,bs)
characteristic polygon (548923); Py— P, — P,— P;— Py & °o|F°1% 7§

RS -1 O

(

716 FAE FAol s Fw T Hel
x=rcosf, y=rsind
r=a+00 ; Archimedes curve

cam A Ao A&

r=a+bcosnb



